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Math Problem, Mathematics
1.) 

P0 = 2 % =0.02
n =?

(estimated fraction  of defective items, Ƿ) = 0.0875

(Ƿ - p0) / [ (p0 (1 – p0) )/ n]1/2
(0.0875 – 0.02)/[0.02(1-0.02)/n]1/2= Zα
(0.0875 – 0.02)/ [0.02 ( 1-0.02) / n]1/2 = 1.65

n = 12
2.)

µ = 40, n=51, [image: image1.png]


 = 48.5, sample standard deviation, S = 7.5

For this case we shall make use of the chi-square distribution.
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SS= (SAMPLE MEAN – POPULATION MEAN)2= (48.5 – 40)2= 72.25

P( 92.80 < s2 < 10060.09 ) = 0.950

3.)

· = (115 + 370 + 250 + 593 + 540 + 225 + 177 + 425 + 318 + 182 + 275 + 228)/12



=308.67
Sample variance, S2= 1/ n-1 [Xi – [image: image3.png]


]2



=1/ 12 – 1[(115 – 308.67) 2 + (370 – 308.67) 2 + (250 – 308.67) 2 + (593 – 308.672) + (225 – 308.672) + (177 – 308.67) 2 + (425 – 308.67) 2 + (318 – 308.67) 2 + (275 – 308.67) 2 + (228 – 308.67)2 ]


=21882.69

Sample standard deviation, S = (21882.69)1/2 = 147.928
4.)

µ = 40, n=51, [image: image4.png]


 = 48.5, sample standard deviation, S = 7.5
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SS= (SAMPLE MEAN – POPULATION MEAN)2= (48.5 – 40)2= 72.25

P( 92.80 < s2 < 10060.09 ) = 0.950
5.) 

N=40, α = 5%, sample mean, [image: image6.png]


 = 51.3, sample standard deviation, S= 5.8


Zn = [[image: image7.png]


 – population mean (µ)]/ S/(n)1/2

      (51.3 - µ)/ 5.8/401/2 = 1.96


49.50 ≤ µ ≤ 53.10

6.)


N=1000, α = 0.05


α → α /2, k = 0.05/ 0.025 = 2
Therefore, new n → 2* n = 2* 1000 = 2000

7.) 

N = 9, [image: image8.png]


 = 71,000, Standard deviation = 18,000, α = 5%
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+ z*[image: image10.png]


 = 71,000 ± 1.96 * 18,000 / (9)1/2




= 68824 ≤ μ ≤ 72176
9.) C

10.) B
11.) C

12.) A

13.) B

14.) A

15.) A

16.) B

17.) D

18.) D
19.) TRUE

20.) TRUE
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